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A NHEEARSH
Hu: MEITRSA U WS (2 /Xe)
Rl MAdE s & A0l 243t (Gt &2l
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
PEL] 1,500 1,500
IEET 1,500 1,500
OREMEY U UHIZER 222 2 1,500
207 ARl 4,000 4,500 A500
03 A& 2HI 4,000 4,500 A500
odx { usds 29 4,000
405 AtatE = 300 300
R 300 300
007 U DB TH P 300
NAXIE&E) 12t 2SR (21) 95,380 95,380 0
= 28,614
== 66,766
101 @124H| 87,380 82,880 4,500
= 26,214
< 61,166
04 JIZtNZ2 2N S 2+ 87,380 82,880 4,500
OZERIIMS AN, SAEXE 87,380
= 26,214
= 61,166
201 =3 2,500 5,500 23,000
= 750
= 1,750
01 At2teltl 2,000 5,000 /3,000
O8=2= &, AIRES & 7Y 2,000
= 600
== 1,400
02 S3=gHl 500 500 0
Og=E JINMN U2+ & 228 7 500
= 150
= 350
202 04| 3,500 2,000 1,500
= 1,050
=S 2,450
01 2LHo4H 3,500 2,000 1,500
ONAKI ZAF, SAMF S 3,500
= 1,050
< 2,450
207 ARl 2,000 5,000 23,000
= 600
= 1,400
03 Al =4I 2,000 5,000 23,000
OAESRE A, HIZ, JI7 S 7Y 2,000
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Aotetdo1sH
METIRER 2 ¢PDS
A NS & A7D|Is EER=E)
RA - B S9I(SH) - MRAE - A HIDEZ
= 600
=S 1,400
SOot=HEd 29 28,986 28,110 876
101 @124H| 24,986 24,110 876
MU IIRINZZENSES 24,986 24,110 876
OSROt=Z RIS AL Q12A4H| 24,986
201 et 3| 4,000 4,000
01 AtR2tc|HI 4,000 4,000
Oou+ £ MMz 2 4,000
2F NHd=s s3 A4 10,170 9,380 790
201 et | 595 5%
01 At22t2ltl 595 595
OusEEE X} o 595
206 MH=Hl 8,665 7,875 790
01 MZH| 8,665 7,875 790
Ol =0l 7 8,665
207 ARl 910 910
03 AlZ &=t 910 910
ou+E8 8y S 910
dEiHE HIOIE2 2" & 2 104,983 232,600 A127,617
Aedets S8 2 99,383 227,000 A127,617
201 er=3| 7,000 18,000 211,000
01 AFR2telHl 5,000 10,000 /5,000
OU 73 e A 5,000
2 5234l 2,000 8,000 26,000
OxTZ A4 S 225 7Y 2,000
202 048l 3,600 3,600
01 =LHOHI 3,600 3,600
Ol MESE & 2AF 3,600
206 M=l 2,900 5,400 A2,500
01 MHZHI 2,900 5,400 22,500
OXNHZEA 28 =3t 2,900
401 AIEHIZL S0 85,883 200,000 AN4,117
01 AlZHI 85,883 200,000 AN4,117
Oetdgt SEACIE ?lgt == 85,883
S8 82 gdst 5,600 5,600 0
201 eer23y| 5,600 5,600
01 AtR2t2|HI 5,600 5,600
OS82 S HNH & =23 78 S 5,600
A g2 533,800 425,300 108,500
A B2 533,800 425,300 108,500
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SH: Telsenze
A MEHREN 2 AFRLNK(EE/A)
chel: HArdgae] EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
201 er23| 433,100 424,600 8,500
01 At2teltl 273,100 260,600 12,500
OS2HA Xt & AL RA2A 89 S 272,100
032 % 23 72 S(323) 1,000
02 S3=gHl 160,000 164,000 24,000
oMIIg=s & U 28 Al S 160,000
202 04| 700 700
01 =LH LI 700 700
OnszEs 9 dAX #xorR(S2A) 700
401 Al HIZ 2018 100,000 100,000
01 Al&H| 100,000 100,000
OFAL &l - I X SAt 100,000
HH2LIHI(AASZHATRSH) (OIEH/IIEH 1,213,725 1,195,057 18,668
= 26,460
= 1,187,265
el 2| 1,174,663 1,156,424 18,239
= 26,460
== 1,148,203
S2E o2 XI& 786,5% 810,334 N23,739
101 @124H| 786,59 810,334 N23,739
01 &2 786,59% 810,334 N23,739
oJlz=s 591,757
ousA 248,79
-42 98,430,9603 1 98,431
52 75,183,960 x2& 150,368
Oogery 342,958
6= 4,440,800 2H 122 106,580
-2 3,660,200« 1&*12& 43,923
= 2,750,600« 18~ 12& 33,008
- A 3,321,800 ~4H 122 189,447
o= 91,619
OE+e 8,640
BN} 40,0002 x10& 128 4,800
el 20,0002 x16E~12& 3,840
od2=+g 29,478, 0003 x50%+*23] 29,478
Od2=gitita 10,200
2580l & 130,000& x2&* 123 3,120
-20~25=01 8t 10,0003 x 1= 123 1,320
-15~20= 018t 80,0002 x4« 123 3,840
-10~15=2 018t 60,0002 x1& 122 720
-5~10=20] e+ 50,0008 x2& * 122 1,200
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SH: TelsRenRe
M HZYRIZHI(MHSZARS)(DIE/IIE
el e Eal (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
SFEEETEY
4,000,000& =2H*4. 1% 123 3,936
OJl=8e=g 2,400
52 50,0003 1 x 128 600
672 30,0002 * 122 720
S (O1SE/I1AL
30,0002 %3~ 12 1,080
Oougesd 80,0008 x4 x 122 3,840
OAlt2I22+E
11,6022« 102 *20A| 2+ 123 27,845
OSF=R22+E(2X)
40,0002 x11E~12& 5,280
OFHZ A 18,480
OZH=AHI 140,000 x11& 128 18,480
OEZEFIH| 36,374
OE &=l 29,478,000 «60%*22] 35,374
OS2 4| 20,985
OYIt2 4| 1,877,000 86%* 13 20,985
(OFSF= N 28,380
O4=2 400,000& x1E~12& 4,800
Os53 250,000 «2H*12& 6,000
O6=, A+AH 185,000 6+ 122 13,320
ora 180,000 x1&* 122 2,160
0%z 175,0008«1 122 2,100
AEZ|J(RINH ) 22X B 158,635 137,631 21,004
101 @124H| 143,848 124,661 19,187
03 SR (RINHA) 222+ 143,848 124,661 19,187
oJlzs 2,738,200 x3H 122 98,576
od2+¢ 2,738, 2002 *50%+3H *23] 8,215
OA222+E
15,5803 * 150%*3Al 2H+3F « 12 2,524
OgxRESR e
124,6402x3E %13 4,861
ozdz2F+<
15,5803 *150%+ 10A| 2H+3E « 123 8,414
OgZE =l 2,738, 2002 x60%*22] 3 9,858
(Of=ats] 140,000& x32* 123 5,040
OuSH| 100,000 x3& * 122 3,600
OE=g 40,0002 =2 * 122 960
(R =] 50,0002 x3& 122 1,800
M HASFESS 14,787 12,970 1,817
M SRA(RIAHS) 22N BEEE2RE=s S 14,787 12,970 1,817
OAlg2ed 14,787
ANSASJA(RIH ) 22X B 46,466 42,376 4,090
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SH: TelsRenRe
M HZYRIZHI(MHSZARS)(DIE/IIE
el e Eal (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
101 @124H| 42,106 38,329 3,776
03 SR (RINAHA) 222+ 42,106 38,329 3,776
oJlzs 2,422 5003« 1H« 123 29,070
od2+¢ 2,422,500 *30%*22] 1,454
oA 2ReY
13,9443« 150%+3Al 2t 1E + 12 753
ooRRIRI+E
111,652 x 12 » 13 1,451
ofYRRLY
13,9443 »150%+ 10A| 2+ 18123 2,510
OgZ =l 2,422, 5002 x60%* 1 <22 2,907
OsAltl 140,000& x 1= 123 1,680
OuSH| 100,000 x 1 * 122 1,200
QIIE+¢ 40,0002 1 * 123 480
(OE =] 50,0002 x1& 122 600
M HASFESS 4,361 4,047 314
M BRA(RIAHL) 22N BEE2RE=s S 4,361 4,047 314
OAgaRE 4,361
SOIEXNSAHRIH ) 22X 2+ 94,767 84,79%6 9,97
101 @124H| 86,207 77,082 9.125
03 SRH(RINAHA) 222+ 86,207 77,082 9,125
oJlzs 2,377,600 2H* 123 57,063
odz2+< 2,377 6003 x15%+2H <22 1,427
OA22R+E
13, 1423 1500 1241 22 128 5,678
OAXRBEINTY
105, 1363 x2& * 13 2,734
CEEE RN
13, 1423 150%* 12A1 2H+28 + 123 5,678
OgZE =l 2,377,600 x60%*2H <22 5,707
Os4ltl 140,000& x2&~ 123 3,360
OuSH| 100,000 x2&«12& 2,400
OEg 40,0002 =2 * 122 960
(O =] 50,0002 x2& =122 1,200
WM HASFESS 8,560 7,714 846
M BRA(RIHL) 22N BEE2RE=s S 8,560 7,714 846
OR0HEXI S A
2,377,600« 15%2E =123 8,560
NARIE) |2 28X SRA ALK (=21) 88,200 81,287 6,913
= 26,460
< 61,740
101 @124H| 79,340 73,098 6,242
= 23,802
S 55,538
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